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Notes – Section 6.2 
Algebra 2 Trig G 
 
I. Simplify the polynomials 
 
1)  (3 4 72n n  ) + (7 5 62n n  ) 

 
 
 
 
 
 
 
 
 
2)  (7 4 5 33 2y y y   ) – (8 4 2 23 2y y y   ) 

 
 
 
 
 
 
 
 
 
 
 
 
3)  3(2a + 5c) – 2(4a – 6c) 
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II.  Find the product of the polynomials   
 
4)  (4y + 3)(2y – 2)    5)  3t(3 4 52t t  ) 

 
 
 
 
 
 
 
 
 

 

 
 
6)   (x – 2)(x + 3)    7)   (a + 4)(a a2 3 2  ) 

 
 
 
 
 
 
 
 
 
 

 

 
 
8)  (2x – 7)2     9)  (x2 – 2)(x2 – 5) 
 
 
 
 
 
 
 
 
 
 

 

 
10)  2x(x + 5) – x2 (3 – x) 
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